

$$\vec{r} = (p_0 + \alpha \theta) \hat{n}$$

(a)

$$\dot{\vec{r}} = \alpha \dot{\theta} \hat{n} + (p_0 + \alpha \theta) \dot{\theta} \hat{\theta}$$

(1)

$$\dot{\vec{r}} = \alpha \omega_0 \hat{n} + (p_0 + \alpha \theta) \omega_0 \hat{\theta}$$

$$|\dot{\vec{r}}| = \omega_0 \sqrt{\alpha^2 + (p_0 + \alpha \theta)^2}$$

more $p = 2p_0$ $|\dot{\vec{r}}| = \omega_0 \sqrt{\alpha^2 + 4p_0^2}$

$$\vec{a} = \alpha \omega_0^2 \hat{\theta} + \alpha \omega_0^2 \hat{\theta} + \omega_0^2 (p_0 + \alpha \theta) (-\hat{n}) \quad (b)$$

$$\vec{a} = -\omega_0^2 (p_0 + \alpha \theta) \hat{n} + 2\alpha \omega_0^2 \hat{\theta} \quad (2)$$

$$|\vec{a}| = \omega_0^2 \sqrt{(p_0 + \alpha \theta)^2 + 4\alpha^2}$$

more $p = 2p_0$ $|\vec{a}| = 2\omega_0^2 \sqrt{\alpha^2 + p_0^2}$

$$\vec{a} = -\omega_0^2 p \hat{n} + 2\alpha \omega_0^2 \hat{\theta}$$

$$\vec{a} = a_t \hat{t} + a_n \hat{n}$$

$$a_n = \frac{v^2}{\rho} \quad \text{part c)}$$

$$\vec{v} = v \hat{t}$$

$$\vec{a} \times \vec{v} = a_n v \hat{k} = \frac{v^3}{\rho}$$

$$\rho = \frac{v^3}{|\vec{a} \times \vec{v}|}$$

$$\text{or } a_n = \frac{|\vec{a} \times \vec{v}|}{v} = \frac{v^2}{\rho}$$

$$\text{so: } \vec{a} = -\omega_0^2 \rho \hat{n} + 2\alpha \omega_0^2 \hat{\sigma}$$

$$\vec{v} = \alpha \omega_0 \hat{n} + \rho \omega_0 \hat{\sigma}$$

$$|\vec{a} \times \vec{v}| = \omega_0^3 \rho^2 + 2\alpha^2 \omega_0^3$$

$$= \omega_0^3 (\rho^2 + 2\alpha^2)$$

$$v = \omega_0 \sqrt{\rho^2 + \alpha^2}$$

$$\text{so: } a_n = \frac{|\vec{a} \times \vec{v}|}{v} = \frac{\omega_0^2 (\rho^2 + 2\alpha^2)}{\sqrt{\rho^2 + \alpha^2}}$$

~~$$\vec{a} = d\omega_0^2 (\hat{n} + \theta \hat{\theta})$$

$$\vec{a} = d\omega_0^2 (-\theta \hat{n} + 2\hat{\theta})$$~~

o también:

(c)

(3)

$$\hat{t} = \frac{\vec{v}}{|\vec{v}|} = \frac{d}{\sqrt{d^2 + p^2}} \hat{n} + \frac{p}{\sqrt{d^2 + p^2}} \hat{\theta}$$

$$\vec{a} = a_t \hat{t} + a_n \hat{n}$$

$$a_t = \vec{a} \cdot \hat{t}$$

$$a_n = |\vec{a} - a_t \hat{t}|$$

$$\text{ent (c)} \quad a_t = \vec{a} \cdot \hat{t} = \frac{-\omega_0^2 p d}{\sqrt{d^2 + p^2}} + \frac{2d\omega_0^2 p}{\sqrt{d^2 + p^2}}$$

(4)

~~$$= \frac{\omega_0^2 p d}{\sqrt{d^2 + p^2}}$$~~

$$a_t \hat{t} = \frac{\omega_0^2 p d^2}{d^2 + p^2} \hat{n} + \frac{\omega_0^2 p^2 d}{d^2 + p^2} \hat{\theta}$$

$$\vec{a} - a_t \hat{t} = \left(-\omega_0^2 p - \frac{\omega_0^2 p d^2}{d^2 + p^2} \right) \hat{n} + \left(2d\omega_0^2 - \frac{\omega_0^2 p^2 d}{d^2 + p^2} \right) \hat{\theta}$$